BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 16 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS JUNE 13, 2025 LJA ENGINEERING, INC. C CORTEZ JUNE 17, 2025 0386-3116A (9.2)

BIDDER NAME

1) PRINCIPAL SERVICES, LTD

2) TEXASITE

3) DIMAS BROS. CONSTRUCTION

4) CROSTEX CONSTRUCTION INC.

5) BLAZEY CONSTRUCTION SERVICES LLC

6) TMW LAND SERVICES

\$4,089,030.80 \$4,212,513.00 \$4,284,000.00 \$4,400,000.00 \$4,442,662.00 \$4,679,554.50

**BASE BID** 



16.

85/100 contract days

I, JACK SULLIVAN, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			1) PRINCIPAI	L SERVICES, LTD	2) TEXASITE		3) DIMAS BROS. CONSTRUCTION		4) CROSTEX CON	STRUCTION INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
WATER SYSTEM ITEMS 1. 8" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTH INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN		7916	\$32.00	\$253,312.00	\$33.00	\$261,228.00	\$36.00	\$284,976.00	\$37.00	\$292,892.00
2. FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCI COMPLETE IN PLACE	ES, EA	16	\$7,251.00	\$116,016.00	\$7,100.00	\$113,600.00	\$7,000.00	\$112,000.00	\$7,300.00	\$116,800.00
<ol> <li>REMOVE AND RELOCATE EXISTING BLUE DEAD END FIRE HYDRANT AND CONNECT PROPOSED WATERLINE TO EXISTING WATERLINE, J DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE</li> </ol>		2	\$992.00	\$1,984.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$3,500.00	\$7,000.00
4. 8" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	27	\$2,141.00	\$57,807.00	\$2,050.00	\$55,350.00	\$1,800.00	\$48,600.00	\$2,200.00	\$59,400.00
5. 24" X 8" TAPPING SLEEVE, VALVE, AND BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$10,000.00	\$10,000.00	\$8,100.00	\$8,100.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00
6. DUCTILE IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TON	2.6	\$1.00	\$2.60	\$8,600.00	\$22,360.00	\$8,000.00	\$20,800.00	\$2,500.00	\$6,500.00
7. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PL	ACE LF	7916	\$2.00	\$15,832.00	\$2.00	\$15,832.00	\$2.00	\$15,832.00	\$2.00	\$15,832.00
SUBTOTAL WATER SYSTEM ITEMS				\$454,953.60	-	\$478,470.00		\$504,208.00	_	\$533,424.00
SANITARY SEWER ITEMS 1. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 0'- 8' DEPTH INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	I, LF	4806	\$39.00	\$187,434.00	\$46.00	\$221,076.00	\$44.75	\$215,068.50	\$38.00	\$182,628.00
2. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 8'- 12' DEPT INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	Ή, LF	1529	\$39.00	\$59,631.00	\$48.00	\$73,392.00	\$46.75	\$71,480.75	\$42.00	\$64,218.00
3. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 12'- 16' DEP INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	тн, LF	1150	\$39.00	\$44,850.00	\$51.00	\$58,650.00	\$47.75	\$54,912.50	\$49.00	\$56,350.00
4. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 16'- 20' DEP INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	TH, LF	659	\$39.00	\$25,701.00	\$55.00	\$36,245.00	\$66.75	\$43,988.25	\$58.00	\$38,222.00
<ol> <li>"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, AS 2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDES CEMENT STABILI BACKFILL, RISER, WYE, STACK, PLUG, MARKER, AND ALL NECESSAR FITTINGS, COMPLETE IN PLACE</li> </ol>	ZED SAND	81	\$1,516.00	\$122,796.00	\$1,250.00	\$101,250.00	\$830.00	\$67,230.00	\$1,400.00	\$113,400.00
<ol> <li>"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, AST 2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDES CEMENT STABILI BACKFILL, RISER, WYE, STACK, PLUG, MARKER, AND ALL NECESSAR FITTINGS, COMPLETE IN PLACE</li> </ol>	ZED SAND	2784	\$40.00	\$111,360.00	\$46.00	\$128,064.00	\$53.00	\$147,552.00	\$45.00	\$125,280.00
7. STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SI PIPES, (0' – 8' DEPTH), INCLUDING THANE COATING, COMPLETE IN		69	\$3,678.00	\$253,782.00	\$3,800.00	\$262,200.00	\$4,225.00	\$291,525.00	\$3,600.00	\$248,400.00
8. EXTRA DEPTH FOR SANITARY SEWER MANHOLE OVER 8' DEPTH, CO IN PLACE	OMPLETE VF	177	\$301.00	\$53,277.00	\$255.00	\$45,135.00	\$235.00	\$41,595.00	\$360.00	\$63,720.00 FRN F-1386 LJA Engineering, Inc

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) PRINCIPAL S	SERVICES, LTD	2) TEX	ASITE	3) DIMAS BROS.	CONSTRUCTION	4) CROSTEX CON	STRUCTION INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
9. FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING MANHOLES, COMPLETE IN PLACE	EA	69	\$1.00	\$69.00	\$1.00	\$69.00	\$50.00	\$3,450.00	\$150.00	\$10,350.00
10. STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, (0-2' DROP), COMPLETE IN PLACE	EA	8	\$716.00	\$5,728.00	\$650.00	\$5,200.00	\$384.00	\$3,072.00	\$750.00	\$6,000.00
11. EXTRA DEPTH ON SANITARY SEWER DROP, (OVER 2' OF DEPTH), COMPLETE IN PLACE	VF	17.1	\$49.00	\$837.90	\$40.00	\$684.00	\$20.00	\$342.00	\$75.00	\$1,282.50
12. CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED SANITARY SEWER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$460.00	\$920.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00
13. DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	4072	\$20.00	\$81,440.00	\$20.00	\$81,440.00	\$20.00	\$81,440.00	\$20.00	\$81,440.00
14. T.V. INSPECTION OF SANITARY SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	8144	\$3.00	\$24,432.00	\$3.00	\$24,432.00	\$3.00	\$24,432.00	\$3.00	\$24,432.00
15. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	8144	\$2.00	\$16,288.00	\$2.00	\$16,288.00	\$2.00	\$16,288.00	\$2.00	\$16,288.00
SUBTOTAL SANITARY SEWER ITEMS				\$988,545.90	-	\$1,057,125.00	_	\$1,065,376.00		\$1,037,010.50
DRAINAGE FACILITY ITEMS 1. 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	5277	\$94.00	\$496,038.00	\$107.00	\$564,639.00	\$107.20	\$565,694.40	\$102.00	\$538,254.00
2. 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	222	\$119.00	\$26,418.00	\$142.00	\$31,524.00	\$140.00	\$31,080.00	\$129.00	\$28,638.00
3. 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	713	\$170.00	\$121,210.00	\$202.00	\$144,026.00	\$190.00	\$135,470.00	\$166.00	\$118,358.00
4. 42" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	132	\$228.00	\$30,096.00	\$256.00	\$33,792.00	\$239.00	\$31,548.00	\$226.00	\$29,832.00
<ol> <li>STAGE I – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	61	\$1,499.00	\$91,439.00	\$1,700.00	\$103,700.00	\$1,184.00	\$72,224.00	\$2,500.00	\$152,500.00
<ol> <li>STAGE II – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	61	\$2,525.00	\$154,025.00	\$1,700.00	\$103,700.00	\$1,684.00	\$102,724.00	\$800.00	\$48,800.00
<ol> <li>STAGE I – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	2	\$1,558.00	\$3,116.00	\$2,250.00	\$4,500.00	\$1,515.00	\$3,030.00	\$3,500.00	\$7,000.00
8. STAGE II – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	2	\$2,974.00	\$5,948.00	\$2,800.00	\$5,600.00	\$2,355.00	\$4,710.00	\$900.00	\$1,800.00 FRN F-138

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			1) PRINCIPA	L SERVICES, LTD	2) TE	XASITE	3) DIMAS BROS	CONSTRUCTION	4) CROSTEX CON	STRUCTION INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
<ol> <li>STAGE I – STANDARD 15' PRECAST REINFORCED CONCRETE INLET ("C-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	1	\$1,558.00	\$1,558.00	\$2,250.00	\$2,250.00	\$1,800.00	\$1,800.00	\$35,000.00	\$35,000.00
<ol> <li>STAGE II – STANDARD 15' PRECAST REINFORCED CONCRETE INLET ("C-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	1	\$3,379.00	\$3,379.00	\$3,400.00	\$3,400.00	\$3,000.00	\$3,000.00	\$1,300.00	\$1,300.00
11. REINFORCED CONCRETE TYPE "A" INLET, INCLUDES SILT FENCE, ALL DEPTHS COMPLETE IN PLACE	, EA	1	\$2,759.00	\$2,759.00	\$3,200.00	\$3,200.00	\$2,100.00	\$2,100.00	\$3,800.00	\$3,800.00
12. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	24	\$3,128.00	\$75,072.00	\$3,600.00	\$86,400.00	\$3,150.00	\$75,600.00	\$3,800.00	\$91,200.00
13. TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$3,128.00	\$34,408.00	\$7,350.00	\$80,850.00	\$5,484.00	\$60,324.00	\$7,600.00	\$83,600.00
14. FINAL ADJUSTMENT OF EXISTING AND PROPOSED MANHOLES, THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	37	\$1.00	\$37.00	\$1.00	\$37.00	\$50.00	\$1,850.00	\$150.00	\$5,550.00
15. CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	35	\$425.00	\$14,875.00	\$250.00	\$8,750.00	\$300.00	\$10,500.00	\$1,000.00	\$35,000.00
<ol> <li>REMOVE AND REPLACE EXISTING TYPE "E" INLET TOP WITH TYPE "C" MANHOLE TOP, ALL DEPTHS, COMPLETE IN PLACE</li> </ol>	EA	1	\$8,970.00	\$8,970.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
17. T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	6344	\$3.00	\$19,032.00	\$3.00	\$19,032.00	\$3.00	\$19,032.00	\$5.00	\$31,720.00
18. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	6344	\$2.00	\$12,688.00	\$2.00	\$12,688.00	\$2.00	\$12,688.00	\$2.00	\$12,688.00
SUBTOTAL DRAINAGE FACILITY ITEMS				\$1,101,068.00	-	\$1,209,088.00	-	\$1,134,374.40	—	\$1,227,040.00
DRAINAGE FACILITY STORM TRUNK ITEMS 1. (M.H. 51A - M.H. 22A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	170	\$445.00	\$75,650.00	\$437.00	\$74,290.00	\$404.55	\$68,773.50	\$410.00	\$69,700.00
<ol> <li>(M.H. 22A -M.H. 23A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE</li> </ol>	LF	63	\$445.00	\$28,035.00	\$437.00	\$27,531.00	\$404.55	\$25,486.65	\$410.00	\$25,830.00
3. (M.H. 23A -M.H. 24A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	92	\$445.00	\$40,940.00	\$437.00	\$40,204.00	\$404.55	\$37,218.60	\$410.00	\$37,720.00
<ol> <li>(M.H. 24A -M.H. 25A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE</li> </ol>	LF	200	\$445.00	\$89,000.00	\$437.00	\$87,400.00	\$404.55	\$80,910.00	\$410.00	\$82,000.00
5. (M.H. 25A -M.H. 26A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	19	\$445.00	\$8,455.00	\$437.00	\$8,303.00	\$404.55	\$7,686.45	\$410.00	\$7,790.00
6. (M.H. 26A -M.H. 27A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	281	\$445.00	\$125,045.00	\$437.00	\$122,797.00	\$404.55	\$113,678.55	\$410.00	\$115,210.00 ERN F-138

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
LF	18	\$445.00	\$8,010.00	\$437.00	\$7,866.00	\$404.55	\$7,281.90	\$410.00	\$7,380.00
LF	232	\$445.00	\$103,240.00	\$437.00	\$101,384.00	\$404.55	\$93,855.60	\$410.00	\$95,120.00
LF	78	\$567.00	\$44,226.00	\$516.00	\$40,248.00	\$516.00	\$40,248.00	\$520.00	\$40,560.00
LF	152	\$578.00	\$87,856.00	\$572.00	\$86,944.00	\$561.50	\$85,348.00	\$535.00	\$81,320.00
LF	62	\$578.00	\$35,836.00	\$572.00	\$35,464.00	\$561.50	\$34,813.00	\$535.00	\$33,170.00
LF	145	\$578.00	\$83,810.00	\$572.00	\$82,940.00	\$561.50	\$81,417.50	\$535.00	\$77,575.00
LF	145	\$578.00	\$83,810.00	\$572.00	\$82,940.00	\$561.50	\$81,417.50	\$535.00	\$77,575.00
LF	40	\$579.00	\$23,160.00	\$572.00	\$22,880.00	\$561.50	\$22,460.00	\$535.00	\$21,400.00
LF	239	\$579.00	\$138,381.00	\$516.00	\$123,324.00	\$481.00	\$114,959.00	\$520.00	\$124,280.00
LF	239	\$579.00	\$138,381.00	\$516.00	\$123,324.00	\$481.00	\$114,959.00	\$520.00	\$124,280.00
LF	21	\$578.00	\$12,138.00	\$572.00	\$12,012.00	\$561.50	\$11,791.50	\$535.00	\$11,235.00
LF	19	\$578.00	\$10,982.00	\$572.00	\$10,868.00	\$561.50	\$10,668.50	\$535.00	\$10,165.00
LF	48	\$1,652.00	\$79,296.00	\$1,610.00	\$77,280.00	\$1,600.00	\$76,800.00	\$2,500.00	\$120,000.00
EA	1	\$5,333.00	\$5,333.00	\$7,350.00	\$7,350.00	\$5,484.00	\$5,484.00	\$8,500.00	\$8,500.00
EA	1	\$12,599.00	\$12,599.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00
	LF LF LF LF LF LF LF LF LF LF LF LF LF L	LF     18       LF     232       LF     78       LF     78       LF     152       LF     152       LF     145       LF     145       LF     145       LF     239       LF     239       LF     239       LF     19       LF     48       EA     1	LF         18         \$445.00           LF         232         \$445.00           LF         232         \$445.00           LF         78         \$567.00           LF         152         \$578.00           LF         62         \$578.00           LF         145         \$578.00           LF         145         \$578.00           LF         145         \$578.00           LF         239         \$579.00           LF         239         \$579.00           LF         239         \$579.00           LF         21         \$578.00           LF         19         \$578.00           LF         19         \$578.00           LF         48         \$1,652.00           EA         1         \$5,333.00	LF         18         \$445.00         \$8,010.00           LF         232         \$445.00         \$103,240.00           LF         78         \$567.00         \$44,226.00           LF         78         \$5578.00         \$87,856.00           LF         152         \$578.00         \$83,810.00           LF         62         \$578.00         \$83,810.00           LF         145         \$578.00         \$83,810.00           LF         145         \$578.00         \$83,810.00           LF         145         \$578.00         \$83,810.00           LF         145         \$579.00         \$23,160.00           LF         239         \$579.00         \$138,381.00           LF         239         \$579.00         \$138,381.00           LF         239         \$578.00         \$12,138.00           LF         19         \$578.00         \$10,982.00           LF         48         \$1,652.00         \$79,296.00           LF         48         \$1,652.00         \$5,333.00	LF         18         \$445.00         \$8,010.00         \$437.00           LF         232         \$445.00         \$103,240.00         \$437.00           LF         78         \$567.00         \$44,226.00         \$516.00           LF         78         \$567.00         \$84,226.00         \$516.00           LF         152         \$578.00         \$87,856.00         \$572.00           LF         62         \$578.00         \$33,836.00         \$572.00           LF         145         \$578.00         \$83,810.00         \$572.00           LF         145         \$578.00         \$83,810.00         \$572.00           LF         145         \$579.00         \$83,810.00         \$572.00           LF         40         \$579.00         \$138,381.00         \$516.00           LF         239         \$579.00         \$138,381.00         \$516.00           LF         239         \$579.00         \$138,381.00         \$516.00           LF         21         \$578.00         \$12,138.00         \$572.00           LF         19         \$578.00         \$10,982.00         \$572.00           LF         48         \$1,652.00         \$79,296.00	LF         18         5445.00         \$8,010.00         \$437.00         \$7,866.00           LF         232         \$445.00         \$103,240.00         \$437.00         \$101,384.00           LF         78         \$567.00         \$44,226.00         \$516.00         \$40,248.00           LF         78         \$557.00         \$84,226.00         \$516.00         \$40,248.00           LF         152         \$578.00         \$87,856.00         \$572.00         \$86,944.00           LF         62         \$578.00         \$83,810.00         \$572.00         \$82,940.00           LF         145         \$578.00         \$83,810.00         \$572.00         \$82,940.00           LF         145         \$578.00         \$83,810.00         \$572.00         \$82,940.00           LF         145         \$579.00         \$83,810.00         \$572.00         \$82,840.00           LF         239         \$579.00         \$138,381.00         \$516.00         \$123,324.00           LF         239         \$579.00         \$138,381.00         \$516.00         \$123,324.00           LF         239         \$578.00         \$12,138.00         \$572.00         \$12,012.00           LF         19	LF         18         \$445.00         \$8,010.00         \$437.00         \$7,866.00         \$404.55           LF         232         \$445.00         \$103,240.00         \$437.00         \$101,384.00         \$404.55           LF         78         \$567.00         \$44,226.00         \$516.00         \$402,4800         \$516.00           LF         78         \$567.00         \$44,226.00         \$516.00         \$402,4800         \$516.00           LF         152         \$578.00         \$87,856.00         \$572.00         \$36,944.00         \$561.50           LF         62         \$578.00         \$33,830.00         \$572.00         \$32,464.00         \$561.50           LF         145         \$578.00         \$83,810.00         \$572.00         \$32,940.00         \$561.50           LF         145         \$578.00         \$83,810.00         \$572.00         \$32,840.00         \$561.50           LF         145         \$579.00         \$138,381.00         \$516.00         \$123,324.00         \$481.00           LF         239         \$579.00         \$138,381.00         \$516.00         \$123,324.00         \$481.00           LF         239         \$579.00         \$138,381.00         \$516.00	LF         18         \$445.00         \$8,010.00         \$437.00         \$7,866.00         \$404.55         \$7,281.90           LF         232         \$445.00         \$103,240.00         \$437.00         \$101,384.00         \$404.55         \$93,855.60           LF         78         \$567.00         \$44,226.00         \$516.00         \$40,248.00         \$5516.00         \$40,248.00           LF         152         \$578.00         \$87,856.00         \$572.00         \$35,64.00         \$5561.50         \$34,813.00           LF         62         \$578.00         \$35,836.00         \$572.00         \$32,464.00         \$561.50         \$34,813.00           LF         145         \$578.00         \$88,810.00         \$572.00         \$82,940.00         \$561.50         \$81,417.50           LF         145         \$578.00         \$88,810.00         \$572.00         \$82,940.00         \$561.50         \$81,417.50           LF         145         \$578.00         \$83,810.00         \$572.00         \$82,940.00         \$561.50         \$81,417.50           LF         145         \$579.00         \$138,381.00         \$516.00         \$123,324.00         \$481.00         \$114,959.00           LF         239         \$579.00 <td>LF         18         5445.00         58,010.00         5437.00         57,866.00         5404.55         57,221.00         5410.00           LF         232         5445.00         5103,240.00         5437.00         5101,384.00         5404.55         593,855.60         5410.00           LF         78         5567.00         544,225.00         5516.00         540,248.00         5516.00         540,248.00         550.00         540,248.00         550.00         5520.00           LF         152         5578.00         587,856.00         5572.00         535,464.00         5561.50         583,48.00         5535.00           LF         145         5578.00         583,810.00         5572.00         582,940.00         5561.50         581,417.50         5535.00           LF         145         5578.00         583,810.00         5572.00         582,940.00         5561.50         581,417.50         5535.00           LF         145         5579.00         5138,381.00         5572.00         582,940.00         5561.50         581,417.50         5535.00           LF         239         5579.00         5138,381.00         5516.00         5123,324.00         5481.00         5114,959.00         5520.00</td>	LF         18         5445.00         58,010.00         5437.00         57,866.00         5404.55         57,221.00         5410.00           LF         232         5445.00         5103,240.00         5437.00         5101,384.00         5404.55         593,855.60         5410.00           LF         78         5567.00         544,225.00         5516.00         540,248.00         5516.00         540,248.00         550.00         540,248.00         550.00         5520.00           LF         152         5578.00         587,856.00         5572.00         535,464.00         5561.50         583,48.00         5535.00           LF         145         5578.00         583,810.00         5572.00         582,940.00         5561.50         581,417.50         5535.00           LF         145         5578.00         583,810.00         5572.00         582,940.00         5561.50         581,417.50         5535.00           LF         145         5579.00         5138,381.00         5572.00         582,940.00         5561.50         581,417.50         5535.00           LF         239         5579.00         5138,381.00         5516.00         5123,324.00         5481.00         5114,959.00         5520.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

		Γ	1) PRINCIPAL	SERVICES, LTD	2) TEXASITE		3) DIMAS BROS.	CONSTRUCTION	4) CROSTEX CON	) CROSTEX CONSTRUCTION INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
22. (M.H. 23A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$13,610.00	\$13,610.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
23. (M.H. 24A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$12,729.00	\$12,729.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
24. (M.H. 25A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$12,729.00	\$12,729.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
25. (M.H. 26A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$12,729.00	\$12,729.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
26. (M.H. 27A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$12,729.00	\$12,729.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
27. (M.H. 28A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$12,729.00	\$12,729.00	\$10,000.00	\$10,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
<ol> <li>(M.H. 29A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP</li> </ol>	EA	1	\$13,921.00	\$13,921.00	\$12,000.00	\$12,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
29. (M.H. 30A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$15,828.00	\$15,828.00	\$12,000.00	\$12,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
<ol> <li>(M.H. 31A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP</li> </ol>	EA	1	\$13,609.00	\$13,609.00	\$12,000.00	\$12,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
<ol> <li>(M.H. 13A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP</li> </ol>	EA	1	\$14,050.00	\$14,050.00	\$11,000.00	\$11,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
<ol> <li>(M.H. 14A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP</li> </ol>	EA	1	\$13,610.00	\$13,610.00	\$11,000.00	\$11,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
33. (M.H. 15A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	ĒA	1	\$13,610.00	\$13,610.00	\$11,000.00	\$11,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
34. (M.H. 16A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$16,782.00	\$16,782.00	\$13,000.00	\$13,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
35. (M.H. 17A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, INCLUDES SILT FENCE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$15,828.00	\$15,828.00	\$13,500.00	\$13,500.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
<ol> <li>(M.H. 18A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP</li> </ol>	EA	1	\$15,828.00	\$15,828.00	\$11,000.00	\$11,000.00	\$17,800.00	\$17,800.00	\$15,000.00	\$15,000.00	
<ol> <li>(M.H. 1902A) STAGE I – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	1	\$1,500.00	\$1,500.00	\$6,500.00	\$6,500.00	\$1,184.00	\$1,184.00	\$8,500.00	\$8,500.00	
<ol> <li>(M.H. 1902A) STAGE II – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	1	\$2,526.00	\$2,526.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	
39. (M.H. 19A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX STRUCTURE, CONTRACTOR SHALL PROVIDE ENGINEER SIGNED AND SEALI SHOP DRAWINGS FOR APPROVAL, FABRICATION, AND INSTALLATION, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE		1	\$22,912.00	\$22,912.00	\$22,000.00	\$22,000.00	\$29,500.00	\$29,500.00	\$35,000.00	\$35,000.00 FRN F-1386	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			Γ	1) PRINCIPA	L SERVICES, LTD	2) TE	EXASITE	3) DIMAS BROS	. CONSTRUCTION	4) CROSTEX CONS	STRUCTION INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	M.H. 51A) FINAL ADJUSTMENT OF INLET THROAT AND OPENING LEVATIONS, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$250.00	\$250.00
	И.Н. 22A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	И.Н. 23A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 24A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 25A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 26A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 27A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 28A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 29A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	и.Н. 30A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 31A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 13A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	ÉA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 14A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 15A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 16A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 17A) FINAL ADJUSTMENT OF INLET THROAT AND OPENING LEVATIONS, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$250.00	\$250.00
	M.H. 18A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 19A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM LEVATION, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1.00	\$1.00	\$200.00	\$200.00	\$150.00	\$150.00
	M.H. 22A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN AVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			1) PRINCIPAL	SERVICES, LTD	2) TEXASITE		3) DIMAS BROS. CONSTRUCTION		4) CROSTEX CONSTRUCTION INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
<ol> <li>(M.H. 23A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE</li> </ol>	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
60. (M.H. 24A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
61. (M.H. 25A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
62. (M.H. 26A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
63. (M.H. 27A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
64. (M.H. 28A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
65. (M.H. 29A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
66. (M.H. 30A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
67. (M.H. 31A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
<ol> <li>(M.H. 13A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE</li> </ol>	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
69. (M.H. 14A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
70. (M.H. 15A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	ÉA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
71. (M.H. 19A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$250.00	\$250.00	\$684.00	\$684.00	\$1,000.00	\$1,000.00
72. (M.H. 51A - M.H. 22A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	170	\$0.10	\$17.00	\$1.00	\$170.00	\$5.00	\$850.00	\$1.00	\$170.00
73. (M.H. 22A - M.H. 23A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	63	\$0.10	\$6.30	\$1.00	\$63.00	\$5.00	\$315.00	\$1.00	\$63.00
74. (M.H. 23A - M.H. 24A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	92	\$0.10	\$9.20	\$1.00	\$92.00	\$5.00	\$460.00	\$1.00	\$92.00
75. (M.H. 24A - M.H. 25A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	200	\$0.10	\$20.00	\$1.00	\$200.00	\$5.00	\$1,000.00	\$1.00	\$200.00
76. (M.H. 25A - M.H. 26A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	19	\$0.10	\$1.90	\$1.00	\$19.00	\$5.00	\$95.00	\$1.00	\$19.00 FRN F-1386

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

			1) PRINCIPA	L SERVICES, LTD	2) TE	XASITE	3) DIMAS BROS	5. CONSTRUCTION	4) CROSTEX CO	NSTRUCTION INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
77. (M.H. 26A - M.H. 27A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE		281	\$0.10	\$28.10	\$1.00	\$281.00	\$5.00	\$1,405.00	\$1.00	\$281.00
78. (M.H. 27A - M.H. 28A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	18	\$0.10	\$1.80	\$1.00	\$18.00	\$5.00	\$90.00	\$1.00	\$18.00
79. (M.H. 28A - M.H. 29A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	232	\$0.10	\$23.20	\$1.00	\$232.00	\$5.00	\$1,160.00	\$1.00	\$232.00
80. (M.H. 29A - M.H. 30A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	78	\$0.10	\$7.80	\$1.00	\$78.00	\$5.00	\$390.00	\$1.00	\$78.00
81. (M.H. 30A - M.H. 31A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	152	\$0.10	\$15.20	\$1.00	\$152.00	\$5.00	\$760.00	\$1.00	\$152.00
82. (M.H. 31A - M.H. 13A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	62	\$0.10	\$6.20	\$1.00	\$62.00	\$5.00	\$310.00	\$1.00	\$62.00
83. (M.H. 13A - M.H. 14A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	145	\$0.10	\$14.50	\$1.00	\$145.00	\$5.00	\$725.00	\$1.00	\$145.00
84. (M.H. 14A - M.H. 15A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	145	\$0.10	\$14.50	\$1.00	\$145.00	\$5.00	\$725.00	\$1.00	\$145.00
85. (M.H. 15A - M.H. 16A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES A T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	40	\$0.10	\$4.00	\$1.00	\$40.00	\$5.00	\$200.00	\$1.00	\$40.00
86. (M.H. 16A - M.H. 17A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	239	\$0.10	\$23.90	\$1.00	\$239.00	\$5.00	\$1,195.00	\$1.00	\$239.00
87. (M.H. 17A - M.H. 18A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AI T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ND LF	239	\$0.10	\$23.90	\$1.00	\$239.00	\$5.00	\$1,195.00	\$1.00	\$239.00
88. (M.H. 18A - M.H. 1902A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE		21	\$0.10	\$2.10	\$1.00	\$21.00	\$5.00	\$105.00	\$1.00	\$21.00
89. (M.H. 1902A - M.H. 19A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE		19	\$0.10	\$1.90	\$1.00	\$19.00	\$5.00	\$95.00	\$1.00	\$19.00
90. (M.H. 19A - EXIST. 8" BRICK PLUG) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ON AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF LY	48	\$0.10	\$4.80	\$1.00	\$48.00	\$5.00	\$240.00	\$20.00	\$960.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) PRINCIPAL	SERVICES, LTD	2) TE	XASITE	3) DIMAS BROS	. CONSTRUCTION	4) CROSTEX CONSTRUCTION INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
91. REMOVE AND DISPOSE EXISTING 8" BRICK WALL PLUG & CONNECT PROPOSED 12' X 5' R.C.B STORM TO SUBMERGED SYSTEM (INCLUDES DEWATERING, CERTIFIED DIVER, AND OTHER NECESSARY MEANS TO CONNECT)	EA	1	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$11,309.35	\$11,309.35	\$15,000.00	\$15,000.00
SUBTOTAL DRAINAGE FACILITY STORM TRUNK ITEMS			-	\$1,476,963.30	-	\$1,390,330.00	-	\$1,468,741.60	_	\$1,491,385.00
MISCELLANEOUS WS&D ITEMS 1. INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
2. INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
3. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR FOR WATER SANITARY SEWER, AND DRAINAGE, COMPLETE IN PLACE	LS	1	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$28,800.00	\$28,800.00	\$33,640.50	\$33,640.50
<ol> <li>CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED B' THE ENGINEER, COMPLETE IN PLACE</li> </ol>	Y HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00
5. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
6. OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	СҮ	5000	\$2.00	\$10,000.00	\$2.00	\$10,000.00	\$2.00	\$10,000.00	\$2.00	\$10,000.00
7. WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE USEI AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	, I	20000	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$3.00	\$60,000.00	\$2.75	\$55,000.00
8. MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	3000	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$3.00	\$9,000.00
SUBTOTAL MISCELLANEOUS WS&D ITEMS			-	\$67,500.00	-	\$77,500.00	-	\$111,300.00	_	\$111,140.50
BID SUMMARY										
WATER SYSTEM ITEMS				\$454,953.60		\$478,470.00		\$504,208.00		\$533,424.00
SANITARY SEWER ITEMS				\$988,545.90		\$1,057,125.00		\$1,065,376.00		\$1,037,010.50
DRAINAGE FACILITY ITEMS				\$1,101,068.00		\$1,209,088.00		\$1,134,374.40		\$1,227,040.00
DRAINAGE FACILITY STORM TRUNK ITEMS				\$1,476,963.30		\$1,390,330.00		\$1,468,741.60		\$1,491,385.00
MISCELLANEOUS WS&D ITEMS				\$67,500.00		\$77,500.00		\$111,300.00		\$111,140.50
TOTAL AMOUNT BASE BID				\$4,089,030.80		\$4,212,513.00		\$4,284,000.00		\$4,400,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 16 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS JUNE 13, 2025 LIA ENGINEERING, INC. C CORTEZ JUNE 17, 2025 0386-3116A (9.2)

				5) BLAZEY CONSTRU	ICTION SERVICES LLC	6) TMW LAND SERVICES		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
INCLUDES BEDDING A	, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, ND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	7916	\$37.00	\$292,892.00	\$42.00	\$332,472.00	InC.
2. FIRE HYDRANT UNIT, A COMPLETE IN PLACE	ALL DEPTHS, INCLUDING ALL APPURTENANCES,	EA	16	\$7,021.00	\$112,336.00	\$7,800.00	\$124,800.00	
AND CONNECT PROPO	ATE EXISTING BLUE DEAD END FIRE HYDRANT UNIT DSED WATERLINE TO EXISTING WATERLINE, ALL ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$1,096.00	\$2,192.00	\$900.00	\$1,800.00	0,1
4. 8" RESILIENT SEATED APPURTENANCES, CO	GATE VALVE WITH BOX, INCLUDING ALL MPLETE IN PLACE	EA	27	\$1,976.00	\$53,352.00	\$2,600.00	\$70,200.00	
5. 24" X 8" TAPPING SLE APPURTENANCES, CO	EVE, VALVE, AND BOX, INCLUDING ALL MPLETE IN PLACE	EA	1	\$30,890.00	\$30,890.00	\$34,000.00	\$34,000.00	
6. DUCTILE IRON WATEF	RLINE FITTINGS, COMPLETE IN PLACE	TON	2.6	\$8,726.00	\$22,687.60	\$1,200.00	\$3,120.00	
7. TRENCH SAFETY SYST	EM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	7916	\$2.00	\$15,832.00	\$2.00	\$15,832.00	
SUBTOTAL WATER SYSTEM ITE	EMS				\$530,181.60	_	\$582,224.00	
	(GREEN), ASTM D-3034, SDR 26, 0'- 8' DEPTH, IND BACKFILL, COMPLETE IN PLACE	LF	4806	\$41.00	\$197,046.00	\$43.00	\$206,658.00	
	(GREEN), ASTM D-3034, SDR 26, 8'- 12' DEPTH, IND BACKFILL, COMPLETE IN PLACE	LF	1529	\$45.00	\$68,805.00	\$45.00	\$68,805.00	
	(GREEN), ASTM D-3034, SDR 26, 12'- 16' DEPTH, IND BACKFILL, COMPLETE IN PLACE	LF	1150	\$52.00	\$59,800.00	\$49.00	\$56,350.00	
	(GREEN), ASTM D-3034, SDR 26, 16'- 20' DEPTH, ND BACKFILL, COMPLETE IN PLACE	LF	659	\$71.00	\$46,789.00	\$54.00	\$35,586.00	
2241, SDR 26, CLASS 1	E OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D- I60, ALL DEPTHS, INCLUDES CEMENT STABILIZED SAND , STACK, PLUG, MARKER, AND ALL NECESSARY IN PLACE	EA	81	\$1,359.00	\$110,079.00	\$1,935.00	\$156,735.00	
2241, SDR 26, CLASS 1	OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D- IGO, ALL DEPTHS, INCLUDES CEMENT STABILIZED SAND , STACK, PLUG, MARKER, AND ALL NECESSARY IN PLACE	LF	2784	\$52.40	\$145,881.60	\$60.00	\$167,040.00	
	SEWER MANHOLE FOR 6" – 24" SANITARY SEWER , INCLUDING THANE COATING, COMPLETE IN PLACE	EA	69	\$3,897.00	\$268,893.00	\$5,000.00	\$345,000.00	
8. EXTRA DEPTH FOR SA IN PLACE	NITARY SEWER MANHOLE OVER 8' DEPTH, COMPLETE	VF	177	\$228.00	\$40,356.00	\$350.00	\$61,950.00	FR LJA Engined

FRN F-1386 LIA Engineering, Inc. C:\Users\ccortez\Downloads\BID\_TAB\_DETAIL\_0386-3116A (2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				5) BLAZEY CONSTRU	ICTION SERVICES LLC	6) TMW LANI	D SERVICES
			0.77/		TOTAL		TOTAL
NO.	ITEM DESCRIPTION           9. FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING           MANHOLES, COMPLETE IN PLACE	EA	QTY 69	UNIT COST \$28.00	TOTAL \$1,932.00	UNIT COST \$1.00	TOTAL \$69.00
1	). STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, (0-2' DROP), COMPLETE IN PLACE	EA	8	\$774.00	\$6,192.00	\$500.00	\$4,000.00
1	L EXTRA DEPTH ON SANITARY SEWER DROP, (OVER 2' OF DEPTH), COMPLETE IN PLACE	VF	17.1	\$35.00	\$598.50	\$35.00	\$598.50
1	2. CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED SANITARY SEWER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,622.00	\$5,244.00	\$1,500.00	\$3,000.00
1	3. DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	4072	\$27.00	\$109,944.00	\$35.00	\$142,520.00
1	<ol> <li>T.V. INSPECTION OF SANITARY SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE</li> </ol>	LF	8144	\$3.00	\$24,432.00	\$3.00	\$24,432.00
1	5. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	8144	\$2.00	\$16,288.00	\$2.00	\$16,288.00
SUBTO	TAL SANITARY SEWER ITEMS			_	\$1,102,280.10	_	\$1,289,031.50
	AGE FACILITY ITEMS I. 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	5277	\$126.50	\$667,540.50	\$106.00	\$559,362.00
	2. 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	222	\$146.00	\$32,412.00	\$135.00	\$29,970.00
	3. 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	713	\$184.00	\$131,192.00	\$180.00	\$128,340.00
	4. 42" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	132	\$230.00	\$30,360.00	\$230.00	\$30,360.00
	5. STAGE I – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	61	\$1,964.00	\$119,804.00	\$1,900.00	\$115,900.00
	5. STAGE II – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	61	\$1,452.00	\$88,572.00	\$1,400.00	\$85,400.00
	7. STAGE I – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	2	\$1,953.00	\$3,906.00	\$2,600.00	\$5,200.00
	<ol> <li>STAGE II – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	2	\$2,008.00	\$4,016.00	\$1,800.00	\$3,600.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				5) BLAZEY CONSTR	UCTION SERVICES LLC	6) TMW LAI	ND SERVICES	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
9	STAGE I – STANDARD 15' PRECAST REINFORCED CONCRETE INLET ("C-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	1	\$1,953.00	\$1,953.00	\$3,600.00	\$3,600.00	· · · · · ·
10	. STAGE II – STANDARD 15' PRECAST REINFORCED CONCRETE INLET ("C-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	1	\$2,342.00	\$2,342.00	\$2,100.00	\$2,100.00	InC.
11	. REINFORCED CONCRETE TYPE "A" INLET, INCLUDES SILT FENCE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,414.00	\$3,414.00	\$3,000.00	\$3,000.00	
12	. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	24	\$3,340.00	\$80,160.00	\$3,800.00	\$91,200.00	
13	. TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$8,135.00	\$89,485.00	\$5,300.00	\$58,300.00	
14	. FINAL ADJUSTMENT OF EXISTING AND PROPOSED MANHOLES, THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	37	\$72.00	\$2,664.00	\$120.00	\$4,440.00	
15	. CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	35	\$278.00	\$9,730.00	\$600.00	\$21,000.00	
16	. REMOVE AND REPLACE EXISTING TYPE "E" INLET TOP WITH TYPE "C" MANHOLE TOP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,757.00	\$1,757.00	\$3,000.00	\$3,000.00	
17	. T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	6344	\$3.00	\$19,032.00	\$3.00	\$19,032.00	
18	. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	6344	\$2.00	\$12,688.00	\$2.00	\$12,688.00	
SUBTO	TAL DRAINAGE FACILITY ITEMS				\$1,301,027.50	-	\$1,176,492.00	
	AGE FACILITY STORM TRUNK ITEMS . (M.H. 51A - M.H. 22A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	170	\$422.00	\$71,740.00	\$450.00	\$76,500.00	
2	. (M.H. 22A -M.H. 23A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	63	\$422.00	\$26,586.00	\$450.00	\$28,350.00	
3	. (M.H. 23A -M.H. 24A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	92	\$422.00	\$38,824.00	\$450.00	\$41,400.00	
4	. (M.H. 24A -M.H. 25A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	200	\$422.00	\$84,400.00	\$450.00	\$90,000.00	
5	. (M.H. 25A -M.H. 26A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	19	\$422.00	\$8,018.00	\$450.00	\$8,550.00	
6	. (M.H. 26A -M.H. 27A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	281	\$422.00	\$118,582.00	\$450.00	\$126,450.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				5) BLAZEY CONSTR	UCTION SERVICES LLC	6) TMW LAN	D SERVICES
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	. (M.H. 27A -M.H. 28A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	18		\$7,596.00	\$450.00	\$8,100.00
;	. (M.H. 28A -M.H. 29A) 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	232	\$422.00	\$97,904.00	\$450.00	\$104,400.00
1	. (M.H. 29A -M.H. 30A) 66" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	78	\$524.00	\$40,872.00	\$588.00	\$45,864.00
1	. (M.H. 30A - 31A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C-1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	152	\$577.00	\$87,704.00	\$575.00	\$87,400.00
1	. (M.H. 31A - M.H. 13A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C- 1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	62	\$577.00	\$35,774.00	\$575.00	\$35,650.00
1	. (M.H. 13A - M.H. 14A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C- 1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	145	\$577.00	\$83,665.00	\$575.00	\$83,375.00
1	. (M.H. 14A - M.H. 15A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C- 1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	145	\$577.00	\$83,665.00	\$575.00	\$83,375.00
1	. (M.H. 15A - M.H. 16A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C- 1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	40	\$577.00	\$23,080.00	\$575.00	\$23,000.00
1	. (M.H. 16A - M.H. 17A) 66" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	239	\$524.00	\$125,236.00	\$585.00	\$139,815.00
1	. (M.H. 17A - M.H. 18A) 66" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	239	\$524.00	\$125,236.00	\$585.00	\$139,815.00
1	. (M.H. 18A - M.H. 1902A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C-1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	21	\$577.00	\$12,117.00	\$575.00	\$12,075.00
1	. (M.H. 1902A - M.H. 19A) 5' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C-1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	19	\$577.00	\$10,963.00	\$575.00	\$10,925.00
1	. (M.H. 19A - EXIST. 8" BRICK PLUG) 12' X 5' REINFORCED CONRETE BOX CULVERT, ASTM C-1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	48	\$1,495.00	\$71,760.00	\$1,700.00	\$81,600.00
2	. (M.H. 51A) TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER W/ TYPE 'E' INLET TOP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$8,268.00	\$8,268.00	\$5,300.00	\$5,300.00
2	. (M.H. 22A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$11,121.00	\$11,121.00	\$11,000.00	\$11,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

		[	5) BLAZEY CONSTRU	CTION SERVICES LLC	6) TMW LAN	D SERVICES
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
22. (M.H. 23A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1		\$11,199.00	\$11,000.00	\$11,000.00
23. (M.H. 24A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,908.00	\$8,908.00	\$11,000.00	\$11,000.00
24. (M.H. 25A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,897.00	\$8,897.00	\$11,000.00	\$11,000.00
25. (M.H. 26A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,908.00	\$8,908.00	\$11,000.00	\$11,000.00
26. (M.H. 27A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,652.00	\$8,652.00	\$11,000.00	\$11,000.00
27. (M.H. 28A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,652.00	\$8,652.00	\$11,000.00	\$11,000.00
28. (M.H. 29A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,697.00	\$8,697.00	\$11,000.00	\$11,000.00
29. (M.H. 30A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$11,282.00	\$11,282.00	\$11,000.00	\$11,000.00
30. (M.H. 31A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,980.00	\$8,980.00	\$11,000.00	\$11,000.00
31. (M.H. 13A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$11,238.00	\$11,238.00	\$11,000.00	\$11,000.00
32. (M.H. 14A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$8,980.00	\$8,980.00	\$11,000.00	\$11,000.00
33. (M.H. 15A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	ÉA	1	\$9,052.00	\$9,052.00	\$11,000.00	\$11,000.00
34. (M.H. 16A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$9,208.00	\$9,208.00	\$11,000.00	\$11,000.00
35. (M.H. 17A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, INCLUDES SILT FENCE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$14,135.00	\$14,135.00	\$11,000.00	\$11,000.00
36. (M.H. 18A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C" MANHOLE TOP	EA	1	\$9,208.00	\$9,208.00	\$11,000.00	\$11,000.00
<ol> <li>(M.H. 1902A) STAGE I – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	1	\$7,335.00	\$7,335.00	\$2,000.00	\$2,000.00
<ol> <li>(M.H. 1902A) STAGE II – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE</li> </ol>	EA	1	\$1,452.00	\$1,452.00	\$1,700.00	\$1,700.00
39. (M.H. 19A) REINFORCED CONCRETE STORM SEWER JUNCTION BOX STRUCTURE, CONTRACTOR SHALL PROVIDE ENGINEER SIGNED AND SEALED SHOP DRAWINGS FOR APPROVAL, FABRICATION, AND INSTALLATION, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	1	\$30,268.00	\$30,268.00	\$45,000.00	\$45,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

		Γ	5) BLAZEY CONSTR	UCTION SERVICES LLC	6) TMW LA	ND SERVICES	
	LINIT	OTV	LINIT COST	TOTAL		TOTAL	
NO.         ITEM DESCRIPTION           40. (M.H. 51A) FINAL ADJUSTMENT OF INLET THROAT AND OPENING	EA	QTY 1	UNIT COST \$72.00	TOTAL \$72.00	UNIT COST \$500.00	TOTAL \$500.00	
ELEVATIONS, COMPLETE IN PLACE							
41. (M.H. 22A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	1nG*
42. (M.H. 23A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
43. (M.H. 24A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
44. (M.H. 25A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
45. (M.H. 26A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
46. (M.H. 27A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
47. (M.H. 28A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
48. (M.H. 29A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
49. (M.H. 30A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
50. (M.H. 31A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
51. (M.H. 13A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	ÉA	1	\$72.00	\$72.00	\$500.00	\$500.00	
52. (M.H. 14A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
53. (M.H. 15A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
54. (M.H. 16A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
55. (M.H. 17A) FINAL ADJUSTMENT OF INLET THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
56. (M.H. 18A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
57. (M.H. 19A) FINAL ADJUSTMENT OF PROPOSED JUNCTION BOX RIM ELEVATION, COMPLETE IN PLACE	EA	1	\$72.00	\$72.00	\$500.00	\$500.00	
<ol> <li>(M.H. 22A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE</li> </ol>	EA	1	\$278.00	\$278.00	\$600.00	\$600.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 16 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS JUNE 13, 2025 LIA ENGINEERING, INC. C CORTEZ JUNE 17, 2025 0386-3116A (9.2)

		Γ	5) BLAZEY CONSTR	UCTION SERVICES LLC	6) TMW LAI	ND SERVICES
NO.         ITEM DESCRIPTION           59. (M.H. 23A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	UNIT EA	QTY 1	UNIT COST \$278.00	TOTAL \$278.00	UNIT COST \$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
60. (M.H. 24A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
<ol> <li>(M.H. 25A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE</li> </ol>	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
62. (M.H. 26A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
63. (M.H. 27A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	¢600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
64. (M.H. 28A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
65. (M.H. 29A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
66. (M.H. 30A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
67. (M.H. 31A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
68. (M.H. 13A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
69. (M.H. 14A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
70. (M.H. 15A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	5		\$278.00	\$278.00	\$000.00	\$000.00
71. (M.H. 19A) CONCRETE BLOCKOUT FOR PROPOSED JUNCTION BOXES IN	EA	1	\$278.00	\$278.00	\$600.00	\$600.00
PAVED AREAS (PER DETAIL), COMPLETE IN PLACE						
72. (M.H. 51A - M.H. 22A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND	LF	170	\$3.60	\$612.00	\$1.00	\$170.00
T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE						
73. (M.H. 22A - M.H. 23A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE	LF	63	\$3.60	\$226.80	\$1.00	\$63.00
DIRECTION OF THE ENGINEER, COMPLETE IN PLACE						
74. (M.H. 23A - M.H. 24A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND	LF	92	\$3.60	\$331.20	\$1.00	\$92.00
T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE						
			<b>1</b>			
75. (M.H. 24A - M.H. 25A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE	LF	200	\$3.60	\$720.00	\$1.00	\$200.00
DIRECTION OF THE ENGINEER, COMPLETE IN PLACE						
76. (M.H. 25A - M.H. 26A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND	LF	19	\$3.60	\$68.40	\$1.00	\$19.00
T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE						
DIRECTION OF THE ENGINEER, CONFLETE IN FEACE						

FRN F-1386 LJA Engineering, Inc. C:\Users\ccortez\Downloads\BID\_TAB\_DETAIL\_0386-3116A (2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 16 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS JUNE 13, 2025 LIA ENGINEERING, INC. C CORTEZ JUNE 17, 2025 0386-3116A (9.2)

				5) BLAZEY CONSTR	UCTION SERVICES LLC	6) TMW LA	AND SERVICES
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	(M.H. 26A - M.H. 27A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	281	\$3.60	\$1,011.60	\$1.00	\$281.00
78.	(M.H. 27A - M.H. 28A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	18	\$3.60	\$64.80	\$1.00	\$18.00
79.	(M.H. 28A - M.H. 29A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	232	\$3.60	\$835.20	\$1.00	\$232.00
80.	(M.H. 29A - M.H. 30A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	78	\$3.60	\$280.80	\$1.00	\$78.00
81.	(M.H. 30A - M.H. 31A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	152	\$3.60	\$547.20	\$1.00	\$152.00
82.	(M.H. 31A - M.H. 13A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	62	\$3.60	\$223.20	\$1.00	\$62.00
83.	(M.H. 13A - M.H. 14A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	145	\$3.60	\$522.00	\$1.00	\$145.00
84.	(M.H. 14A - M.H. 15A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	145	\$3.60	\$522.00	\$1.00	\$145.00
85.	(M.H. 15A - M.H. 16A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	40	\$3.60	\$144.00	\$1.00	\$40.00
86.	(M.H. 16A - M.H. 17A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	239	\$3.60	\$860.40	\$1.00	\$239.00
87.	(M.H. 17A - M.H. 18A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	239	\$3.60	\$860.40	\$1.00	\$239.00
88.	(M.H. 18A - M.H. 1902A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	21	\$3.60	\$75.60	\$1.00	\$21.00
89.	(M.H. 1902A - M.H. 19A) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	19	\$3.60	\$68.40	\$1.00	\$19.00
90.	(M.H. 19A - EXIST. 8" BRICK PLUG) TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES AND T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	48	\$3.60	\$172.80	\$1.00	\$48.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 16 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS JUNE 13, 2025 LIA ENGINEERING, INC. C CORTEZ JUNE 17, 2025 0386-3116A (9.2)

NO.         ITEM DESCRIPTION         UNIT         OTAL         UNIT COST         TOTAL         UNIT COST         TOTAL           91. REMOVE AND DESPOSE DESTING ** BRICKWALLPUGE & CONNECT         EA         1         \$1.084.00         \$1.084.00         \$2.000.00         \$2.00         \$2.000.00         \$2.000.00					5) BLAZEY CONSTR	JCTION SERVICES LLC	6) TMW LAN	ND SERVICES	
BIL         RENOVE AND DISPOSE DESTING SPECIFIC MULLIPUIGS CONNECT         FA         1         \$1,084,00         \$1,084,00         \$2,080,00         \$2,000,00           DEVAILTING, CERTIFIED DVER, AND OTHER NECESSARY MEANS TO CONNECT         SILPTCA DRAINAGE FACULTY STORM TRUNKITEMS         SILPTCA DRAINAGE FACULTY STORM	NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
MISCELLANEOUS WSBD ITEMS         FA         1         S1,800.00         S1,000.00         S1,000.00         S1,000.00           1         INSTALLATION, MAINIFERMACE AND REMOVAL OF STABILIZED CONSTRUCTION RULES         FA         1         S1,800.00         S1,000.00         S1,000.00         S1,000.00           2         INSTALLATION AND REMOVAL UPON CONNECTION NO CONCRETE         EA         1         S1,000.00         S1,000.00         S1,000.00         S1,000.00           3         INSTALLATION AND REMOVAL UPON CONNECTION OF CONCRETE         EA         1         S1,001.00         S1,000.00         S1,000.00         S1,000.00           3         INSTALLATION AND REMOVAL UPON CONNECTION FOR WATER         E5         1         S31,917.00         S31,917.00         S31,000.00         S30.00         S00.00           4         CIT OF LEAGUE CIT INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY         HR         10         S80.00         S80.00         S50.00         S10.000.00           5         STORM WATER AND RAINAGE, COMPLETE IN PLACE         INFER ONGLINE COMPLETE IN PLACE         CY         S000         S12,000.00         S10.000.00         S10.000.00           6         OVER EXCAUNTOR OF UNDERLIST MAINTERIN FURCION PLAN COMPLIANCE, INCLUDING E IS         1         S1,375.00         S12,000.00         S10.000.00	91.	PROPOSED 12' X 5' R.C.B STORM TO SUBMERGED SYSTEM (INCLUDES DEWATERING, CERTIFIED DIVER, AND OTHER NECESSARY MEANS TO	EA		\$1,084.00	\$1,084.00	\$2,000.00	\$2,000.00	
In Statulation, MAINTENANCE AND REMOVAL OF STABILIZED       EA       1       \$1,800.00       \$1,000.00       \$1,000.00         CONSTRUCTION EMIX, SWHARP AS PECIFICATION NO A71,11 (NULLIZED       EA       1       \$1,000.00       \$1,000.00       \$1,000.00         2.       INSTALLATION AND REMOVAL UPON COMPLETE DN OF CONCRETE       EA       1       \$1,000.00       \$1,000.00       \$1,000.00         3.       METHOD YALLIZED       FM       10       \$31,917.00       \$71,000.00       \$21,000.00         3.       METHOD YALLIZED       FM       10       \$30.00       \$30.00       \$71,000.00       \$21,000.00         4.       CITY OF LAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY       HR       10       \$30.00       \$30.000       \$1,000.00       \$1,000.00         5.       STORM WATER POLUTION PLAN COMPLANCE, INCLUDING       IS       1       \$1,375.00       \$1,000.00       \$1,000.00         6.       OVER TRUCAUTOR OF UNITIALE CONTRALET OR FILL PLACEMENT, AS       CY       \$2000       \$2,00       \$1,000.00       \$1,000.00         1       MATER, SANTARY SEWER, AND STOBM SEWER UTILIZED SECONDER       CY       \$2000       \$3,200       \$1,000.00       \$1,000.00         1       MATER, SANTARY SEWER, AND STOBM SEWER UTILIZED SECONDENT       CY       \$20000	SUBTOT	AL DRAINAGE FACILITY STORM TRUNK ITEMS			-	\$1,372,580.80	_	\$1,478,307.00	
WASHOUT AREA, COMPLETE IN PLACE       ISANTARY SEWER, AND DRAINAGE, COMPLETE IN PLACE       IS       1       SAIJ,917.00       S71,000.00       S71,000.00         9. ANTARY SEWER, AND DRAINAGE, COMPLETE IN PLACE       IS       1       SAIJ,917.00       S80.00       S50.00       S50.00         9. CITY OF LEGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY       HR       10       S80.00       S80.00       S50.00       S50.00         9. STORM WATER POLUTION PREVENTION PLACE INCLUDING       IS       1       S1,375.00       S12,000.00       S1,000.00       S10,000.00         0. OVER ECAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS       CY       S000       S24.00       S12,000.00       S10,000.00         0. OVER ECAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS       CY       S000       S33.80       S76,000.00       S1.00       S10,000.00         10 DIRECTED BY THE ENGINEER, COMPLETE IN PLACE       CY       S000       S33.80       S76,000.00       S3.00       S60,000.00         10 SUBMARY       SUBTOR SEWER TUTIUTS SPORT SEVER AND STORM SEWER TUTIUTS SPORT SEGUARATION AND PROCED TO DRAIN, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE       S33.80       S11,700.00       S3.00       S90.00.00         10 SUBMARY       SUBTOR SEWERT SINTARY SEWER, AND STROM SEWER TUTIUTS SOIL SEGUARATION OF WATERIN, AS DIRECTED BY THE ENGINEER COMPLETE IN PLACE		INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE	EA	1	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	Ó
SANITARY SEVER, AND DRAINAGE, COMPLETE IN PLACE 4. CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY HR 10 \$80.00 \$800.00 \$500.00 \$500.00 \$500.00 5. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING LS 1 \$1,375.00 \$1,375.00 \$1,000.00 5. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING LS 1 \$1,375.00 \$24.00 \$1,000.00 6. OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS CY 5000 \$24.00 \$3.00 \$3.00 \$3.00 \$00.00 6. OVER EXCAVATION OF UNSUITABLE MATERIALFOR FILL PLACEMENT, AS CY 5000 \$3.80 \$76,000.00 \$3.00 \$3.00 \$50,000.00 7. WATER, SANITARY SEWER UTIUTY SPOILS TO BE USED CY 20000 \$3.80 \$76,000.00 \$3.00 \$3.00 \$50,000.00 8. MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, MULUDES EXCAVATION, MULUDES EXCAVATION, MULUDES EXCAVATION, MULUDES EXCAVATION, MULUDES HORDANUCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE \$530,181.60 \$522.224.00 5.UBTOTAL MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, MULUDES HORDANUCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE \$530,181.60 \$522.24.00 5.UBTOTAL MISCELLANEOUS WS& TATO ARD MULTER IN PLACE \$530,181.60 \$522.24.00 5.UBTOTAL MISCELLANEOUS WS& TATO ARD MULTER IN PLACE \$530,181.60 \$522.24.00 5.UBTOTAL MISCELLANEOUS WS& TATO ARD MULTER IN PLACE \$530,181.60 \$522.24.00 5.UBTOTAL MISCELLANEOUS WS& TATO ARD MULTER IN PLACE \$530,181.60 \$522.24.00 5.MITARY SEWER ITEMS \$522.224.00 \$51,301,027.50 \$51,176,492.00 DRAINAGE FACILITY ITEMS \$51,176,492.00 \$1,176,492.00 DRAINAGE FACILITY STORM TRUNK ITEMS \$51,176,492.00 \$1,176,492.00 MIAGE FACILITY STORM TRUNK ITEMS \$1,176,492.00 \$1,176,492.00 SANITARY SEWER ITEMS \$1,372,598.00 \$1,372,598.00 \$1,372,590	2.		EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
THE ENGINEER, COMPLETE IN PLACE       S. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING       LS       1       \$1,375.00       \$1,375.00       \$1,000.00         S. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING       LS       1       \$1,375.00       \$1,200.00       \$1,000.00         G. OVER EXCAVATION OF UNSUITABLE MATERIALFOR FILL PLACEMENT, AS       CY       5000       \$24.00       \$12,000.00       \$2.00       \$10,000.00         J. WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE USED       CY       20000       \$3.80       \$76,000.00       \$3.00       \$60,000.00         A. SHIL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTED DENSITY WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTED DENSITY WITHIN MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE       \$13,000       \$3.00       \$3.00       \$9,000.00         B. MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE       \$136,592.00       \$13,000       \$3.00       \$9,000.00         SUBTOTAL MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE       \$136,592.00       \$13,000       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       \$3.00       <	3.		LS	1	\$31,917.00	\$31,917.00	\$71,000.00	\$71,000.00	
CONTRACTOR BOOKLET, COMPLETE IN PLACE 6. OVER EXCAVATION OF UNSUITABLE MATERIIAL FOR FILL PLACEMENT, AS CY 5000 \$2.40 \$12,000.00 \$2.00 \$10,000.00 DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 7. WATER, SANTARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE USED CY 20000 \$3.80 \$76,000.00 \$3.00 \$3.00 \$50,000.00 7. AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 8. MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 5. UBTOTAL MISCELLANEOUS WARD ITEMS BID SUMMARY WATER SYSTEM ITEMS SANITARY SEWER ITEMS	4.		HR	10	\$80.00	\$800.00	\$50.00	\$500.00	
DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 1. WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE USED AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HULDR AND COMPACTION TO SSX STANDARD PROFOCTO REINIY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 8. MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE SUBTOTAL MISCELLANEOUS WS&D ITEMS BID SUMMARY WATER SYSTEM ITEMS SANITARY SEWER ITEMS S	5.		LS	1	\$1,375.00	\$1,375.00	\$1,000.00	\$1,000.00	
AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 8. MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE SUBTOTAL MISCELLANEOUS WS&D ITEMS BID SUMMARY WATER SYSTEM ITEMS SANITARY SEWER ITEMS SANITAR	6.		СҮ	5000	\$2.40	\$12,000.00	\$2.00	\$10,000.00	
INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE SUBTOTAL MISCELLANEOUS WS&D ITEMS STATEMAN SECONDAL STATEMAN SECOND	7.	AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH	СҮ	20000	\$3.80	\$76,000.00	\$3.00	\$60,000.00	
BID SUMMARYWATER SYSTEM ITEMS\$530,181.60\$582,224.00SANITARY SEWER ITEMS\$1,102,280.10\$1,289,031.50DRAINAGE FACILITY ITEMS\$1,301,027.50\$1,176,492.00DRAINAGE FACILITY STORM TRUNK ITEMS\$1,372,580.80\$1,478,307.00MISCELLANEOUS WS&D ITEMS\$136,592.00\$153,500.00	8.	INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE	LF	3000	\$3.90	\$11,700.00	\$3.00	\$9,000.00	
WATER SYSTEM ITEMS       \$530,181.60       \$582,224.00         SANITARY SEWER ITEMS       \$1,102,280.10       \$1,289,031.50         DRAINAGE FACILITY ITEMS       \$1,301,027.50       \$1,176,492.00         DRAINAGE FACILITY STORM TRUNK ITEMS       \$1,372,580.80       \$1,478,307.00         MISCELLANEOUS WS&D ITEMS       \$136,592.00       \$153,500.00	SUBTOT	AL MISCELLANEOUS WS&D ITEMS			-	\$136,592.00	-	\$153,500.00	
SANITARY SEWER ITEMS       \$1,102,280.10       \$1,289,031.50         DRAINAGE FACILITY ITEMS       \$1,301,027.50       \$1,176,492.00         DRAINAGE FACILITY STORM TRUNK ITEMS       \$1,372,580.80       \$1,478,307.00         MISCELLANEOUS WS&D ITEMS       \$136,592.00       \$153,500.00	BID SUN	MARY							
DRAINAGE FACILITY ITEMS         \$1,301,027.50         \$1,176,492.00           DRAINAGE FACILITY STORM TRUNK ITEMS         \$1,372,580.80         \$1,478,307.00           MISCELLANEOUS WS&D ITEMS         \$136,592.00         \$153,500.00	WATER S	YSTEM ITEMS				\$530,181.60		\$582,224.00	
DRAINAGE FACILITY STORM TRUNK ITEMS         \$1,372,580.80         \$1,478,307.00           MISCELLANEOUS WS&D ITEMS         \$136,592.00         \$153,500.00	SANITAR	Y SEWER ITEMS				\$1,102,280.10		\$1,289,031.50	
MISCELLANEOUS WS&D ITEMS \$136,592.00 \$153,500.00	DRAINAG	SE FACILITY ITEMS				\$1,301,027.50		\$1,176,492.00	
	DRAINAG	E FACILITY STORM TRUNK ITEMS				\$1,372,580.80		\$1,478,307.00	
TOTAL AMOUNT BASE BID \$4,442,662.00 \$4,679,554.50	MISCELL	ANEOUS WS&D ITEMS				\$136,592.00		\$153,500.00	
	TOTAL A	MOUNT BASE BID				\$4,442,662.00		\$4,679,554.50	